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N = 0 &8 AF S & Al A
A A2 ESE
Mz AT HEXNE (M2 /ES)
o 2ReIHESZIELTH (e
5 T bSRE Y=
2AH -3 - SH2A(SH) - MEAMY - BHES 0] AFCH @;OH Hns
oxtela=Ect 25,946,281 25,494,948 451,333
= 12,096,878
D 2,250,000
< 11,599,403
AT HEXNA(AEX/=S) 25,679,601 25,357,040 322,561
= 12,096,878
Dl 2,250,000
== 11,332,723
AxeIMdEsHIIEYTY 537,000 665,000 A 128,000
AN HELFAXN LR FX 537,000 665,000 A 128,000
201 B2 H| 358,000 510,000 A 152,000
01 AF22t2lt] 350,000 485,000 A 135,000
Oget=8H| 350,000
OLUXCIHEESY)EBBANBRRS 20,000
Ol HEE LM EENES 330,000
03 HAI2HHI 8,000 25,000 A 17,000
OYXIEENRIIIESATS 8,000
202 04 Hl 10,000 10,000 0
01 2LHOHI 10,000 10,000 0
O Xl HE=LFHAXNJLRFA 10,000
203 g L=Zd| 45,000 35,000 10,000
03 AIBH =X Q2 =X Y| 45,000 35,000 10,000
DX EEESHMILTX 5,000
O Xel#Es2I| 222 20,000
OYXeIE=d) 22X 15,000
OXS LRI HELRFA 5,000
303 ZAaS 24,000 36,000 A 12,000
01 Za32 24,000 36,000 A 12,000
O2XelEE=EItAlAZ 6,000,000 «43] 24,000
307 212+01 A 100,000 20,000 80,000
02 QI2tAAIE X 100,000 20,000 80,000
PPNyl Ul =T3=15- Il 5 100,000
MALMOI | A A XL & & 15,046,026 18,537,490 N3,491,464
= 4,635,878
pl 2,250,000
o= 8,160, 148
NEsSSHL R 13,000 13,000 0
201 LBt HH| 5,000 5,000 0
01 AtR2t2ldl 5,000 5,000 0
Oget4gH| 5,000
ONYZESHLKNLIEESSHE 5,000
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202 04l 8,000 8,000 0
01 = LHAOHI 8,000 8,000 0
OXNgssMae e gex=a 8,000
NS ESSHL Xl AtE 8,026,932 11,117,225 23,090,293
= 3,922,957
= 4,103,975
308 XHXIEHMSO0IE 8,026,932 11,117,225 /3,090,293
= 3,922,957
= 4,103,975
01 HIXHHBLEEXS 8,026,932 11,117,225 23,090,293
OXSZESHL X2 ALS 8,026,932
= 3,922,957
S 4,103,975
SES2ZAY 3,199,297 3,197,240 2,057
201 2egr2g 5,000 5,000 0
01 AR 2telH] 5,000 5,000 0
Oget =2t 5,000
OSSR uENH=FUS 5,000
202 O4Hl 8,000 8,000 0
01 =LHAOHI 8,000 8,000 0
OS32 M= 8,000
308 XtXIEHMSO0IE 3,186,297 3,184,240 2,057
01 AXEHHMIESEXS 3,186,297 3,184,240 2,057
O3322AE(012) 3,186,297
ANSL el SEHE XA 450,000 500,000 250,000
403 XXM S K= 01 A 450,000 500,000 250,000
02 ZJ|1 2SOl CHEHCH & AFH HI 450,000 500,000 /50,000
OXS X2 SEHE X 450,000
OrSoIgdsdAY 796,797 1,013,025 N216,228
= 612,921
S 183,876
308 AtXISHHMSOI A 796,797 1,013,025 N216,228
= 612,921
= 183,876
01 AXESHHIMEEXS 796,797 1,013,025 N216,228
Oorsigsd A 796,797
= 612,921
= 183,876
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BENEIDET= P Er 100,000
= 100,000

Ao Y s AR 2 HEX AL 2,380,000 2,445,000 65,000
| 2,250,000
= 130,000

307 £12+0I & 860,000 2,445,000 1,585,000
| 730,000
= 130,000

02 BIRAB A B 860,000 2,445,000 1,585,000
DN EEHARIHENR (ER) 860,000
o] 730,000
= 130,000

308 XX EHHI S OI & 1,520,000 0 1,520,000
| 1,520,000

01 XS HBARES 1,520,000 0 1,520,000
ONARESAAHEXNE (A2E) 1,520,000
)| 1,520,000

HAMAHAI SRS 1,904,000 2,124,000 £220,000

=IERDVEE kT 854,000 524,000 330,000

201 YLBt2 bl 14,000 14,000 0

01 AFR 2 2lt] 14,000 14,000 0
EEEIEE=1 12,000
OFELNAFESENERL 2,000
Osg+g 2,000
OFUANRIZEARI BN LY 2,000

202 01t 10,000 10,000 0

01 2 U0 bl 10,000 10,000 0
mETEPNELTPOETE S 10,000

308 XX EHHI S OI & 630,000 500,000 130,000

01 XIS HBARES 630,000 500,000 130,000
BEJERSEYNI=ERS 630,000

403 Xt X EHHI S XH2 0] & 200,000 0 200,000

02 201 S 0fl CHEHCH S AR B 200,000 0 200,000
BETER W ERISEEPiE! 200,000
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308 AHXISHMSO0I & 750,000 500,000 250,000
01 IXNHHESNEXZ 750,000 500,000 250,000
OSAJ SIS AR 750,000
de2zHeldss 300,000 300,000 0
403 KX EHHIS X2 0] & 300,000 300,000 0
02 B3I 2S0ICHEHCH & AL I 300,000 300,000 0
Ooile=2=2delds4d 300,000
MBI HEd LSt 8,163,575 4,008,050 4,155,525
= 7,461,000
7 = 702,575
M EIIHSLEXH 143,000 79,000 64,000
201 ZEt2FH| 35,000 21,000 14,000
01 AtR2tel 35,000 21,000 14,000
L Et==ZH| 26,000
OAMBIHD IS EHAML LTS LA F 10,000
OAZIHI ML SS S MR L2t 16,000
O2d+¢ 9,000
OAMIF)IdEsdARATT =S 9,000
202 44| 8,000 8,000 0
01 =2 U A bl 8,000 8,000 0
OALI DS LA R FA 8,000
307 21zZtol ™ 100,000 50,000 50,000
02 It &8 X 100,000 50,000 50,000
CJoBIAISI DS S & X & ALY 100,000
M HDI|H S AL RS HI R & ALY 1,427,600 1,168,525 259,075
2 1,328,000
& 99,600
308 XXM S0IA 1,427,600 1,168,525 259,075
2 1,328,000
= 99,600
01 XM BAEES 1,427,600 1,168,525 259,075
OALSI D S A N E B X & A 1,427,600
= 1,328,000
L= 99,600
MBI EDHS LA S E ALY 6,592,975 2,760,525 3,832,450
=2 6,133,000
& 459,975
308 Xt X £t S0 & 6,592,975 2,760,525 3,832,450
= 6,133,000
= 459,975
01 XM BLEELS 6,592,975 2,760,525 3,832,450
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= 6,133,000
L= 459,975
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201 get2Ad| 21,000 16,000 5,000
01 A2 2t 2ldl 21,000 16,000 5,000
D=3l 18,000
O XelSANALSHHE ISR 10,000
Ol SAMEINL BN M SO 6,000
OL el HEEIIR=I| 2 A& IHM & 2,000
O2g9=¢ 3,000
OLNENY=NE | H N+ 3,000
202 o4l 8,000 6,500 1,500
01 =2 AbI 8,000 6,500 1,500
SEPEIES LR 8,000
HE AL (LAl =HEH)(OIEH/IIE 266,680 137,908 128,772
ol = | 266,680 137,908 128,772
Jl=23| 266,680 137,908 128,772
201 YEr2gy| 54,300 61,628 A7,328
01 AR 2t eld| 51,300 58,628 AT,328
Dget=gH| 31,000
OJIZANREZF LI 16,000
OgLNelPRFAUIHLE S 15,000
O=2g=% 7,500
OllHZ=SdAd3 TN =2 N3 s 7,500
=gl 12,800
OgltelHEHRFA sS4 12,800
02 2323l 3,000 3,000 0
LAl &l = X8l 3,000
OMEBIIIISAE=H| 3,000
202 o4 4l 39,500 20,000 19,500
01 =2 AbI 39,500 20,000 19,500
OXel A e =S =80 20,000
O ZEHRFAH 19,500
203 P =&l 144,680 28,080 116,600
01 JI 22 HRFLAY| 123,200 6,600 116,600
OE SRR XA 116,600
O0=% 6,600
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